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Passage:
 Read the following passage and answer the questions below 

  
 
In the Roman times, defected enemies were generally put to death as criminals for having offended the emperor of Rome. In
the middle ages, however, the practice of ransoming of returning prisoners in exchange for money became common. Though
some saw this custom as a step towards a most humane society, the primary reasons behind it were economic rather than
humanitarian.

  
 
 
In those times, rulers had only a limited ability to raise taxes. They could neither force their subject to fight nor pay them to
do so. The promise of material compensation in the form of goods and ransom was therefore the only way of inducing
combatants to participate in a war. In the middle ages, the predominant incentive for the individual soldiers was the
expectation of spoils. Although collecting ransom clearly brought financial gain, keeping a prisoner and arrange for his
exchange had its cost. Consequently, procedures were devised to reduce transaction costs.

  
 
 
One such device was a rule asserting that the prisoner had to assess his own value. This compelled the prisoner to establish a
value without too much distortion; indicating too low a value would increase, the captive's chances of being killed, while
indicating too high a value would either ruin him financially or create a prohibitively expensive ransom that would also result in
death
 

Itemcode : PK1187
Q1 : It can be inferred from the passage that a medieval soldier

(a)  was less likely to kill captured members of opposing armies than was a soldier of the Roman Empire
 (b)  was similar to a 20th century terrorist in that he operated on a basically independent level and was motivated solely by

economic incentives
 (c)  had few economic options and chose to fight because it was the only way to earn an adequate living

 (d)  was motivated to spare prisoners' lives by humanitarian rather than economic ideals
 Key: A

  

Itemcode : PK1188
Q2 : Which of the following best describes the change in policy from executing prisoners in Roman times to ransoming

prisoners in the middle ages?

(a)  The emperors of Rome demanded more respect than did medieval rulers and thus Roman subjects went to greater
lengths to defend their nation

 (b)  it was a reflection of the lesser degree of direct control medieval ruler had over subjects
 (c)  It became a show of strength and honour warrior of middle ages to be able to capture and return their enemies

 (d)  Medieval soldiers were not as humanitarian as their ransoming practices might have indicated
 Key: B

  

Itemcode : PK1189
Q3 : The primary purpose of the passage is to

(a)  discuss the economic basis of the medieval practice of exchanging prisoners for ransom
 (b)  examine the history of the treatment of prisoner of war

 (c)  emphasize the importance of a warrior's code of honour during the middle ages
 (d)  explore a way of reducing the cost of ransom

 Key: A
  

Itemcode : PK1190
Q4 : The author uses the phrase "without too much distortion" in order to

(a)  Indicate that prisoners would fairly assess their worth
 (b)  emphasize the important role medieval prisoners played in determining whether they should be ransomed

 (c)  explain how prisoners often paid more than an appropriate ransom in order to increase their chances of survival
 (d)  suggest that captors and captives often had understanding relationships

 Key: A
  

Itemcode : PK1191
Q5 : Bring out the meaning of the word 'spoils' in the context of the passage.

(a)  Destroys
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(b)  Ruins
 (c)  Rewards

 (d)  wastes
 Key: C

 

Itemcode : PK1202
Q6 : In each of the following questions a statement is given, followed by two conclusions. Give answer :

  
Statement : Today out of the world population of several thousand million, the majority of men have to live under
governments which refuse them personal liberty and the right to dissent.

  
Conclusion :

 I. People are indifferent to personal liberty and the right to dissent.
 II. People desire personal liberty and the right to dissent.

(a)  Only conclusion I follows.
 (b)  Only conclusion II follows.
 (c)  Either I or II follows.

 (d)  Neither I or II follows.
 Key: B

 

Itemcode : PK1203
Q7 : Among Praveen, Pravat, Pankaj, Pratap, and Prakash, each having different weight, D is heavier than only A and C is

lighter than B and E. Who among them is the heaviest?

(a)  Pravat
 (b)  Pankaj
 (c)  Prakash
 (d)  Data inadequate

 Key: C
 

Itemcode : PK1204
Q8 : From the following numbers given, find the one that does not below to the group.

(a)  215
 (b)  143
 (c)  247
 (d)  91

 Key: A
 

Itemcode : PK1205
Q9 : QLR, JPD, RNU, GNC, SPX, DLB, __

(a)  ARE
 (b)  AJA
 (c)  BTU
 (d)  TRA
 Key: D

 

Itemcode : PK1206
Q10
:

PKC, SPF, XSK, AXN, __, IFV

(a)  CAQ
 (b)  FCS
 (c)  FAS
 (d)  CFS
 Key: C

 

Itemcode : PK1207
Q11
:

GTB, CYV, YDP, __, QND

(a)  DIV
 (b)  UIJ
 (c)  DDV
 (d)  UVV
 Key: B

 

Itemcode : PK1208
Q12
:

Here are some words translated from an artificial language.
  

godabim means kidney stones
  

romzbim means kidney beans
  

romzbako means wax beans
  

Which word could mean "wax statue"?

(a)  godaromz
 (b)  lazbim

 (c)  wasibako
 (d)  romzpeo
 Key: C
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Itemcode : PK1209
Q13
:

Here are some words translated from an artificial language.
  

granamelke means big tree
  

pinimelke means little tree
  

melkehoon means tree house
  

Which word could mean "big house"?

(a)  granahoon
 (b)  pinishur

 (c)  pinihoon
 (d)  melkegrana

 Key: A
 

Itemcode : PK1210
Q14
:

Here are some words translated from an artificial language.
  

lelibroon means yellow hat
  

plekafroti means flower garden
  

frotimix means garden salad
  

Which word could mean "yellow flower"?

(a)  lelifroti
 (b)  lelipleka
 (c)  plekabroon

 (d)  frotibroon
 Key: B

 

Itemcode : PK1211
Q15
:

Here are some words translated from an artificial language.
  

myncabel means saddle horse
  

conowir means trail ride
  

cabelalma means horse blanket
  

Which word could mean "horse ride"?

(a)  cabelwir
 (b)  conocabel

 (c)  almamyn
 (d)  conoalma
 Key: A

 

Itemcode : PK1082
Q16
:

(a)  2011
 (b)  2012
 (c)  2013
 (d)  2014
 Key: A

 

Itemcode : PK1138
Q17
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: B
 

Itemcode : PK1139
Q18
:



1/19/2020 :. GCBT Online .:

localhost/GpscQpgrid/DispQset.aspx 4/14

(a)  1-9;2-7;3-8;4-5
 (b)  1-7;2-8;3-9;4-6
 (c)  1-8;2-9;3-5;4-7
 (d)  1-7;2-9;3-6;4-8
 Key: D

 

Itemcode : PK1140
Q19
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 Key: B

 

Itemcode : PK1141
Q20
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: B
 

Itemcode : PK1142
Q21
:

(a)  1976
 (b)  1989
 (c)  1987
 (d)  1988
 Key: C

 

Itemcode : PK1143
Q22
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: D
 

Itemcode : PK1144
Q23
:

(a)  
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(b)  
 

(c)  
 

(d)  
 

Key: B
 

Itemcode : PK1145
Q24
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: D
 

Itemcode : PK1146
Q25
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 Key: B

 

Itemcode : PK1147
Q26
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 Key: C

 

Itemcode : PK1148
Q27
:

(a)  1-7;2-6;3-8;4-5
 (b)  1-5;2-8;3-9;4-6
 (c)  1-6;2-5;3-7;4-8
 (d)  1-8;2-6;3-9;4-5
 Key: D

 

Itemcode : PK1149
Q28
:

(a)  
 

(b)  
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(c)  
 

(d)  
 

Key: C
 

Itemcode : PK1150
Q29
:

(a)  1934
 (b)  1937
 (c)  1940
 (d)  1936
 Key: A

 

Itemcode : PK1151
Q30
:

(a)  1-5;2-6;3-7;4-8
 (b)  1-7;2-8;3-9;4-6
 (c)  1-5;2-9;3-8;4-6
 (d)  1-9;2-8;3-7;4-6
 Key: A

 

Itemcode : PK1152
Q31
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
 

Itemcode : PK1153
Q32
:

(a)  1-6;2-7;3-8;4-9
 (b)  1-7;2-9;3-5;4-6
 (c)  1-5;2-9;3-8;4-6
 (d)  1-9;2-7;3-8;4-5
 Key: D

 

Itemcode : PK1154
Q33
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: C
 

Itemcode : PK1155
Q34
:
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(a)  1909
 (b)  1918
 (c)  1904
 (d)  1906
 Key: A

 

Itemcode : PK1156
Q35
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: D
 

Itemcode : PK1157
Q36
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: D
 

Itemcode : PK1158
Q37
:

(a)  1-5;2-8;3-9;4-7
 (b)  1-8;2-9;3-5;4-6
 (c)  1-8;2-5;3-6;4-9
 (d)  1-6;2-8;3-7;4-9
 Key: A

 

Itemcode : PK1159
Q38
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: C
 

Itemcode : PK1160
Q39
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 Key: C

 

Itemcode : PK1161
Q40
:
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(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
 

Itemcode : PK1162
Q41
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 Key: D

 

Itemcode : PK1163
Q42
:

(a)  1935
 (b)  1936
 (c)  1953
 (d)  1835
 Key: A

 

Itemcode : PK1164
Q43
:

(a)  1-5;2-6;3-7;4-8
 (b)  1-7;2-8;3-9;4-6
 (c)  1-8;2-5;3-6;4-9
 (d)  1-6;2-8;3-7;4-9
 Key: C

 

Itemcode : PK1165
Q44
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
 

Itemcode : PK1166
Q45
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: D
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Itemcode : PK1167
Q46
:

(a)  Konkani Language and Literature
 (b)  The Konkani and the Konkani Language

 (c)  The Formation of Konkani
 (d)  Makers of Konkani Literature

 Key: B
 

Itemcode : PK1168
Q47
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: D
 

Itemcode : PK1169
Q48
:

(a)  1-5;2-6;3-3;4-8
 (b)  1-7;2-8;3-9;4-6
 (c)  1-7;2-9;3-8;4-5
 (d)  1-7;2-8;3-5;4-6
 Key: C

 

Itemcode : PK1170
Q49
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 Key: A

 

Itemcode : PK1171
Q50
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: D
 

Itemcode : PK1172
Q51
:

(a)  1,67,191
 (b)  1,72,191
 (c)  1,62,302
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(d)  1,72,121
 Key: B

 

Itemcode : PK1173
Q52
:

(a)  32
 (b)  33
 (c)  28
 (d)  30
 Key: A
 

Itemcode : PK1174
Q53
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: D
 

Itemcode : PK1175
Q54
:

(a)  1-5;2-7;-3-8;4-9
 (b)  1-7;2-8;3-9;4-6

 (c)  1-5;2-9;3-8;4-7
 (d)  1-7;2-6;3-5;4-9
 Key: A

 

Itemcode : PK1176
Q55
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
 

Itemcode : PK1177
Q56
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
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Itemcode : PK1178
Q57
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
 

Itemcode : PK1179
Q58
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: B
 

Itemcode : PK1180
Q59
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
 

Itemcode : PK1181
Q60
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
 

Itemcode : PK1182
Q61
:

(a)  
 

(b)  
 

(c)  
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(d)  
 

Key: A
 

Itemcode : PK1183
Q62
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: C
 

Itemcode : PK1184
Q63
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
 

Itemcode : PK1185
Q64
:

(a)  
 

(b)  
 

(c)  
 

(d)  
 

Key: A
 

Itemcode : PK1186
Q65
:

(a)  1-7;2-5;3-6;4-9
 (b)  1-5;2-8;3-9;4-6
 (c)  1-7;2-9;3-6.4-5
 (d)  1-6;2-5;3-8;4-7
 Key: C

 

Itemcode : PK1192
Q66
:

Who is the author of 'Dreams of a Billion: India and the Olympic Games'?

(a)  Ram Singh
 (b)  Nalin Mehta
 (c)  Chetan Bhagat

 (d)  Baggi Anveil
 Key: B
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Itemcode : PK1193
Q67
:

How many commercial satellites have been launched by ISRO along with RISAT-2BR1?

(a)  7
 (b)  9
 (c)  10
 (d)  12
 Key: B
 

Itemcode : PK1194
Q68
:

The National Unity Day is celebrated every year on which of the following date?

(a)  October 31
 (b)  October 30
 (c)  October 29
 (d)  October 20
 Key: A

 

Itemcode : PK1195
Q69
:

The famous "Chatham Saw Mill" is located in which among the following states / union territories of India?

(a)  Daman & Diu
 (b)  Goa

 (c)  Andaman & Nicobar
 (d)  Laskhadweep

 Key: C
 

Itemcode : PK1196
Q70
:

One kilobyte (KB) is equal to

(a)  1,000 bits
 (b)  1,024 byte
 (c)  1,024 megabytes

 (d)  1,024 gigabytes
 Key: B

 

Itemcode : PK1197
Q71
:

The concentration of which gas is highest in our environment?

(a)  Oxygen
 (b)  Hydrogen

 (c)  Nitrogen
 (d)  Carbon dioxide

 Key: C
 

Itemcode : PK1198
Q72
:

In which field of Art Jamini Roy make his name?

(a)  Music
 (b)  Drama
 (c)  Sculpture

 (d)  Painting
 Key: D

 

Itemcode : PK1199
Q73
:

Goa Shipyard Limited (GSL) was established in

(a)  1972
 (b)  1957
 (c)  1962
 (d)  1965
 Key: B

 

Itemcode : PK1200
Q74
:

Which country produces the most rubber in the world?

(a)  Vietnam
 (b)  Malaysia
 (c)  Thailand
 (d)  India

 Key: C
 

Itemcode : PK1201
Q75
:

The venue for Summer Olympics in year 2020 is _________
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(a)  Paris
 (b)  Tokyo
 (c)  Qatar
 (d)  Sydney

 Key: B
 

© Government of Goa All rights reserved


